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4.8 Adding & Subtracting Radicals


Name __________________________________________ Date_________________________ Blk_________


Warm-up:  Simplify each radical.

1) 
[image: image1.wmf]75




2) 
[image: image2.wmf]80




3)
[image: image3.wmf]3

375



4)  
[image: image4.wmf]8

2


5) 
[image: image5.wmf]54

3

-



6) 
[image: image6.wmf]96

3



7) 
[image: image7.wmf]3

108

2



8) 
[image: image8.wmf]300

9
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Does [image: image10.png]VO+Va=9+42



 ?

Does  [image: image12.png]


 ?

Use a calculator to investigate which of the following radical statements are true.  Use the results to suggest a rule for adding and subtracting radicals.

a) [image: image14.png]V2 +5V2 = 6v2




b) [image: image16.png]435 — 735 = —335




c) [image: image18.png]5vV8 — 2v8 + 78 = 10V8




d) [image: image20.png]7V5 + 735 = 1435




e) [image: image22.png]V3+32=35




Use the rule to simplify the following:

a) [image: image24.png]8V7 — 3V7 + 157




b) [image: image26.png]18310 + 12310 — 30310 — 7310




Explain why the following statements are true

a) [image: image28.png]V2 +8 =32



                                             b)  [image: image30.png]5V12 + 648 = 3443





Example.  Write each expression in terms of a single radical.

a) [image: image32.png]V80 — V20




       

  b) [image: image34.png]7N27 — 3\75 + 2V/147



 


c)[image: image36.png]380 + 3270




Assignment.






1. Simplify

a) [image: image38.png]57 — 2V7




b) [image: image40.png]



c) [image: image42.png]41T — V1T + V11




d) [image: image44.png]45— 2v2 + 82




e) [image: image46.png]—3V2 + 6V3 — 93 + 42




2. Write each expression in terms of a single radical

a) [image: image48.png]V125 —+5




b) [image: image50.png]V27 + V12




c) [image: image52.png]V24 — 54 + 26




d) [image: image54.png]V150 + 216




e) [image: image56.png]Y16 + Y128




f) [image: image58.png]—3V175 + 828 — V63




g) [image: image60.png]24/700 — 6163




h) [image: image62.png]—73/54 — 23250




3. Simplify by combining like radicals.
a) [image: image64.png]V20 + 72 — V45




b) [image: image66.png]V27 + V12 —32 — V8




c) [image: image68.png]V98 — V20 + 18




d) [image: image70.png]2V/252 — /726 — 5163




e) [image: image72.png]23108 + ¥/32 + 33256




4. In (XYZ, (Y=90º, XY=[image: image74.png]


, and YZ =[image: image76.png]


.                                                Find length  XZ.
__________________________________

Answers:

1. a) [image: image78.png]


  b) [image: image80.png]5v3



  c) [image: image82.png]—44/11



  d) [image: image84.png]45 + 62



  e) [image: image86.png]



2.  a) [image: image88.png]


   b) [image: image90.png]5v3



   c) [image: image92.png]


   d) [image: image94.png]1146



   e) [image: image96.png]632



   f) [image: image98.png]


                        

     g) [image: image100.png]247



   h) [image: image102.png]—3132




3.  a) [image: image104.png]


   b) [image: image106.png]


   c) [image: image108.png]10v2 - 2¢5




      d)  [image: image110.png]—347 - 1146



   e)  [image: image112.png]2033




4. [image: image114.png]24/5




In summary, in order to add and subtract radicals, they must be expressed as _____________________.


________________________ have the same ___________________ and the same _________________.
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